Fill In The Blanks...

Expanding Harder Double Brackets
Double Grid Expanded :;(n;g::;:dd

Brackets Form Form Form
X 2x +1

QCx+1D(x+5) | x | 2x* | +x 2x% +x+ _1|_O;C 2x%+11x+5
+5 | +10x| +5
X X +3

(t+3)Bx+2) | 3x | 322 | 4ox | oX t9x ++Zg 3x2 + 11x + 6
+2 | +2x +6
X 2x +7

Cx+7D(x+1) | x | 2x* | +7x 22% +7x ++x7 2x*>+8x+7
+1 | +x +7
X 4x +3

(4x+3)(x+3) | x | 4x* | +3x do® + 3x ++192x 4x% + 15x + 9
+3 | +12x| 49
X 2x +1

Cx+D(x—-3) | x | 2x* | +x 2%% + x — ixg 2x% —5x — 3
-3 | —6x -3
X 3x +1

Bx+1D(x-5) | x | 3x* | +x 3x% +x = iS;c 3x2—14x -5
-5 |—-15x| -5




Simplified

Brackets Form Grid Form | Expanded
X 2x -5
(2x —=5)(3+x) 3 6x —5x 6x — 5% +Ex125 2x% + x — 15
+x | +2x%| —15
X 6x —1
(6x—1Gx+5) | x | 6x2 | —x | O X7 iog 6x% +29x — 5
+5 | +30x| -5
X 2x -3
(2x—-3)(x—2) | x | 2x* | —3x 2xt = 3x _+4g 2x2—7x+6
—2 | —4x +6
X 3x —1
Bx—1D(x-8) | x | 3x? —x 3x2—x—_2{_4§c 3x2 — 25x + 8
—8 |—24x| +8
X 3x +1
Bx+1DR2x—1)| 2x | 6x2 | +2x 6x* + 2x —_3f 63% — % — 1
-1 | —3x -1
X 2x +1
(2x + 1) 2x | 4x? | 42x | T A e A
+1 | +2x +1
X 3 —5x
(3 5x)? 3 | 9 | -1sx| o F TR 070
—5x | —15x | +25x2




